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2y fit mean vs. lteration 2y fit sigma vs. Iteration 2y fit sigma over mean vs. lteration

34.55F 8.221- I
I 16115}
8.215F I
).0611-
134.5 -
8.21+ [
I 6105
34.45 8,205/\
F 0.061
8.2l
134.4 16095}
8.195F
.0609}
34.35F 8.19- [
-I||||||||||||||||||||||||II|III|III|III|III -II|||||||||||||||||||||||II|III|III|III|III -I||||||||||||||||||||||||II|III|III|III|III

0 02040608 112141618 2 2.2 0 02040608 112141618 2 2.2 0 02040608 112141618 2 22



o/p vs. Iteration (E1, E2 > 500 MeV) o/p vs. lteration (E1, E2 > 700 MeV)
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3Mass Spectum for final iteration (E1
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3Mass Spectum for final iteration (E1

E2 > 700 MeV)

x10 Entries 4.775693e+07
F X2 / ndf 8878/ 165
— Prob 0
F Ei - 0 0 3.921e+05
E Fit o/p =5.378 £0.010 % gl 0.1356
- p2 0.007309
o p3 1.302e+05
~ p4 0.01466
o p5 -5.404e+06
C p6 1.83e+06
- p7 -5.763e+04

e N A T S T T
0.06 0.08 0.1 0.12 0.14 0.16 0.18 0.2
m(2y) [GeV]

3Mass Spectum for final iteration (E1,

E2 > 1100 MeV)

x10 Entries 5647257
F X2 / ndf 5609/ 165
— Prob 0
L i — 0, 0 5.028e+04
C Fit o/p =7.337 £0.001 % gl 01363
— p2 0.01
[ p3 4.159e+04
L p4 0.005499
- p5 -1.12e+06
B p6 3.524e+05
N p7 -1.7e+04

C e VRPETE B RN RN SR B
0.06 0.08 0.1 0.12 0.14 0.16 0.18 0.2
m(2y) [GeV]




Current iteration (Blue), last iteration (Green), and current ccdb constants (Red) Current iteration (B|Ue) and current ccdb constants (Red)
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